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Businesses are organized in three basic
ways. A proprietorship is a business that is
owned by one person. The single owner gets all
the profits and has to pay all the debts. The
owner also has total control of how the company
is managed.

A partnership is owned by at least two people.
The owners share the management decisions.
The profits and debts are also shared, usually
according to the percentage of the company .
that each partner owns. However, each partner
is usually legally responsible for all the
company’s debts if any other partner fails to
pay his or her share.

A corporation is owned by one or more people
but is itself a legal unit. Each owner holds shares
of ownership of the corporation called stock.

How much stock each owner holds depends on
how much money he or she has invested in the
company. The profits of a corporation are divided
among the owners according to how much stock
each owner holds. Each share receives the same
amount. The company itself is responsible for its
debts. If a corporation cannot pay its bills, the
individual owners (shareholders) cannot be
forced to pay.

5. In what way are proprietorships and
partnerships alike?

(1) Both are large businesses.

(2) Both are small businesses.

(3) One person makes the business
decisions.

(4) Both raise money by selling stock.

(5) The owners of each get the profits.

6." Based on the passage, what is the biggest
difference between a partnership and a
corporation?

)} the size of the business

) the way business profits are divided

) responsibility for business debt

) the party who manages the daily
operations of the business

(5) the number of people who own the

business
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7. Dan and Ann are opening a print shop. Ann
owns two-thirds of the business, and Dan -
owns one-third. Dan runs the presses, and -
Ann takes customers’ orders. What do both
Dan and Ann most likely assume?

(1) They will share equally in the profits.

(2) Dan’s job is more important than Ann’s.

(3) Ann will be responsible for all the bills.

(4) They will agree about business
decisions. .

(5) Ann will manage the business.

Questions 8 and 9 refer to the passage below.

One of the most important factors in the
economy is the consumer. Sales of items from
candy to cars are a major part of what keeps the
economy growing. When people have the money
to buy more than just what they need to live,
businesses profit.

When interest rates go down, the amount of
money people borrow and spend goes up. But
when consumers begin to feel a pinch in the
pocketbook, they spend less. A decrease in
spending hurts business. It often results in
unemployment so that people have even less
money to spend. Then the economy slows.

8. According to the passage, which is an effect
of declining interest rates?

(1) Business activity slows down.

(2) People borrow more money.

(8) People have less money to spend.

(4) Fewer people buy houses.

(5) Consumers lose confidence in the
economy.

9. The owner of Joe’s Diner learns that
unemployment is rising sharply. Based
on this information and on the passage,
what should he assume will happen to affect
his business?

(1) The economy will grow.

(2) The interest rate on his loan wili rise.
(8) He will have fewer customers.

(4) Other restaurants will raise prices.
(5) Many of his employees will quit.





